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EOC REVIEW: RC#5 

1.  The graph of the equation y = 0.4x2 – 2 is shown below.  If the graph is translated 3 units up what 
will be the equation of the resulting graph? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2.   
 
 
 
 
 
 
 
 
 
 
 
 
 

3.  
 
 
 
 
 
 
 
 
 
 
  



4.  The graphs below represent functions of the form y = ax2.  In which of the following graphs does a 
have the smallest value? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

5.   
 
 
 
 
 
 
 
 
 
 

6. 
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7.   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

8.  What are the roots of the function shown? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

9. Which ordered pair represents one of the roots of the function f(x) = 2x2 + 3x – 20 ? 

 
 

     F    







 0,

2

5
 

 

     G     0,4  

 

     H     0,5  

 

     J    0,20  
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10.  What is the vertex of the quadratic function f(x) = 4x2 + 16x + 7? 

 
     F    (-2, -9)                                        H    (0, 7) 
 
     G   (-0.5, 0)                                       J    (-0.5, -3.5) 

 

 

 11.  How would the graph of the function y = x2 + 4 be affected if the function were changed to  
y = x2 + 1? 
 
    F    The graph would shift 3 units up. 
 
    G    The graph would shift 3 units down. 
 
     H    The graph would shift 3 units right.    
 
     J    The graph would shift 3 units left. 
 
 

12.  In the graph of the function y = x2 + 5, which describes the shift in the vertex of the parabola if, in 
the function, 5 is changed to -2? 
 
 
     A    3 units up 
 
     B    7 units up 
 
     C    3 units down 
 
     D    7 units down 
 

13.  How do the graphs of the functions f(x) = x2 + 9 and g(x) = x2 – 11 relate to each other? 
 
 
     F  The graph of f(x) is 2 units above the graph of g(x). 
 
     G  The graph of f(x) is 20 units above the graph of g(x). 
 
     H  The graph of f(x) is 2 units to the right the graph of g(x). 
 
     J  The graph of f(x) is 20 units to the right the graph of g(x). 
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